AP® MACROECONOMICS
2012 SCORING GUIDELINES

Question 3
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(a) 2 points:
e One point is earned for drawing a correctly labeled graph and showing the AD and SRAS curves
and PL,.

e One point is earned for showing a vertical LRAS curve at the output Y; through the intersection of
the SRAS and AD curves.

(b) 1 point:

e One point is earned for showing a rightward shift of the aggregate demand curve and showing Y,
and PL..

(c) 1 point:
e One point is earned for stating that real wages will fall because the price level has increased and
the nominal wages are fixed in the short run.

(d) 2 points:
e One point is earned for stating that the investment component of AD will change.

e One point is earned for stating that the long-run aggregate supply curve will shift to the right
because the capital stock has increased.
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3. Assume the economy of Andersonland is in a long-run equilibrium with full employment. In the short run,
nominal wages are fixed.

(a) Draw a correctly labeled graph of short-run aggregate supply, long-run aggregate supply, and aggregate
demand. Show each of the following.

(i) Equilibrium output, labeled Y
(ii) Equilibrium price level, labeled PL,

(b) Assume that there is an increase in exports from Andersonland. On your graph in part (a), show the effect of
higher exports on the equilibrium in the short run, labeling the new equilibrium output and price level Y,
and PL,, respectively.

(c) Based on your answer in part (b), what is the impact of higher exports on real wages in the short run?
Explain.

(d) As aresult of the increase in exports, export-oriented industries in Andersonland increase expenditures on
new container ships and equipment.

(i) What component of aggregate demand will change?

(ii) What is the impact on the long-run aggregate supply? Explain.
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3. Assume the economy of Andersonland is in a long-run equilibrium with full employment. In the short run,

nomipal wages are fixed.
(%:aw a correctly labeled graph of short-run aggregate supply, long-run aggregate supply, and aggregate
demand. Show each of the following.

(‘\)/Equilibrium output, labeled Y,
L’y/ Equilibrium price level, labeled PL,;

() Assume that there is an increase in exports from Andersonland. On your graph in part (a), show the effect of
higher exports on the equilibrium in the short run, labeling the new equilibrium output and price fevel Y,

d PL,, respectively
(Q)Z;sed on your answer in part (b), what is the impact of higher exports on real wages in the short run?

Explain
(4)/As a result of the increase in exports, export-oriented industries in Andersonland increase expenditures on
new coptainer ships and equipment.

(# hat component of aggregate demand will change?

(iWhat is the impact on the long-run aggregate supply? Explain.
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3. Assume the economy of Andersonland is in a long-run equilibrium with full employment. In the short run,

nominal wages are fixed.

(a) Draw a correctly labeled graph of short-run aggregate supply,

demand. Show each of the following.
(1) Equilibrium output, labeled Y

(ii) Equilibrium price level, labeled PL,
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(b) Assume that there is an increase in exports from Andersonland. On your graph in part (a), show the effect of
higher exports on the equilibrium in the short run, labeling the new equlllbnurn output and price level Y,

and PL,, respectively.
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(c) Based on your answer in part (b), what is the impact of higher gxports on real wages in the short run?

Explain.

(d) As aresult of the increase in exports, export-oriented industries in Andersonland increase expenditures on
new container ships and equipment.

(i) What component of aggregate demand will change?

(ii) What is the impact on the long-run aggregate supply? Explain.

)—'IcmrP(l(Hf Suoom L Devncuncl

AN

LRAS,

™~

\ e s
~ i
) AN S
3 S 7
S i ¥ — i
= ?Lz // >(
e A VA N
S/ AN
/ AN
A ~m
/S
Y. Y
Keal GDP
1\ NYZi Mm\ﬂ
3{12 Mcfw]a
U 3
o v ot s T g " GO ON TO THE NEXT PAGE]

-12-

© 2012 The College Board.

Visit the College Board on the Web: www.collegeboard.org.



3Ca g
Additional answer page for Question 3.
V) Sel Gnoen
CjH«nturWuf%S CUUM Aay d@creaSe guice \gne\
(l)f//z/a_CJ &‘/-/7"’1# [ozimeqg PAICL Af/)nﬁ’( real h/ddM sl ]
decrraS€  4¢ pwed! heccreise O;L *:LM //pf/d%aw [ g
thy econcmnaus.
//\ ) Tine aonwgrﬁf clbmand  prull increone. lecause of
Wd,e(,fgn.p an_pury/ce leve! .
n\ T ltnng U fm/mrﬁdfﬁ—(’ ﬁ)oo\u o\ b+ 4o S Mrlghf
[ Al Jhoek vuan "H/'\f R\)n.o\\_z (,L\Sc: goes 1o rhe TEgE
VlC\l/L-‘r ok w4 f— -i:l/u,wf‘ 16 MO Spenalinng AnAL,
LW’l LN (NI SJmQS amnd -@ﬂw//@}ﬂ\@rﬁ}!: s

will affect e Sy -f-m’—g// S//ﬁﬁ/t,/ L4 e /Mﬂ AL
A48 el

GO ON TO THE NEXT PAGE.
-13-

© 2012 The College Board.
Visit the College Board on the Web: www.collegeboard.org.



AP® MACROECONOMICS
2012 SCORING COMMENTARY

Question 3
Overview

Part (a) examined the students’ ability to draw an aggregate supply-and-demand diagram depicting an
economy at full employment. Part (b) tested the students’ ability to show the effects of an increase in a
country’s exports on the country’s equilibrium price level and equilibrium real GDP. Part (c) tested the
students’ ability to explain the effect of an increase in exports on real wages in the short run. Part (d)
tested students’ ability to identify the component of aggregate demand affected by an increase in firms’
expenditures on equipment and to explain the effect of the increased equipment expenditures on long-run

aggregate supply.

Sample: 3A
Score: 6

The student answers all parts of the question correctly and so earned all 6 points.

Sample: 3B
Score: 4

The student’s graph is correct and so earned both points in part (a). In part (b) the student correctly shifts
the aggregate demand curve to the right and shows the new equilibrium output and price level and so
earned 1 point. The student incorrectly concludes that the price level increase results in a higher real wage
and so did not earn the point in part (c). In part (d) the student correctly identifies investment as the
component of aggregate demand that changes, and thus earned the first point, but the student fails to
provide a correct explanation for the rightward shift of the long-run aggregate supply curve and so did not
earn the second point.

Sample: 3C
Score: 2

In part (a) the student’s graph correctly shows the equilibrium output and price level and the position of the
long-run aggregate supply curve, and so earned both points. The student does not shift the aggregate
demand curve and so did not earn the point in part (b). In part (c) the student incorrectly concludes that a
decrease in the price level causes real wages to decrease and so lost 1 point. The student did not earn either
point in part (d). First, the student fails to provide the component of aggregate demand that changes as a
result of the purchase of container ships and equipment. Second, the student does not provide a correct
explanation of the shift of the long-run aggregate supply curve.
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